OO0O0O00OJTARACO DO DO OODOODOOedDONOODOODOO

eZl
X HAR I M I

EEEE FBIED FhybLA| BEER (F51EQ! FHybLA
HRE=MFH 25,550 18% 25050 30,250 8% 29,650
KB =7#R%R 21,250 17% 20,850 25,250 8% 24,750
fBE =5 16,800 17% 16,450/ 19,900 10% 19,500
Ar==% 29,450 26% 28,850| 35,000 17%; 34,300
RE=FH1 37,150 26%i 36,400| 44,050 16%; 43,150
RE=E4 34,600 26%i 33,900/ 41,050 16%; 40,250
ABR=H1E 30,900 26%i 30,300| 36,650 16%; 35,900
fBE=#%H 29,400 27% 28,800| 34,950 17% 34,250
INA=FRER 25,350 27% 24,850| 30,150 17%; 29,550
el Ll =HBER 20,700 27% 20,300| 24,600 19%; 24,100
= 501=3REx 18,950 27% 18550 22,550 19% 22,100
NI 18,850 28%i 18,450| 22,450 20%; 22,000
MEF=R1E 13,800 27% 13,500| 16,400 18%; 16,050
MBEA==" 10,550 27% 10,350| 12,550 19%; 12,300
RiE=F4 7,000 26% 6,850/ 8,350 17% 8,200
BE=AKE 7,200 26% 7,050/ 8,500 17% 8,350
AiE=5E 7,000 26% 6,850 8,350 17% 8,200
RACIRER =53 - - - - - -
RACHI =% - - - - - -
RACHIER =Fa KR - - - - - -
RACHIER =d4L KR - - - - - -
RACEA KR =4t K®K - - - - - -
RACHRER=RE - - - - - -
RACHIZ=FE R M - - - - - -
RACH 1B =K B - - - - - -
RACHIE=%EM - - - - - -
RACEH=%ERM - - - - - -
RACH E=5IBE 19,600 27% 19,200{ 23,500 18%; 23,050
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HARY I :10/1-12/19,1/8-3/13
HARA I :12/20-12/26,1/6-1/7,3/14-3/31

ZEZHOIBAICERLTIE, BEMMERRFIHE 1ZE— AKAEHZYI00MEHLZTET,
A#E 5 (RACHEE) HAFTER
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